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•••• Ñi;k tk¡p dj ysa fd bl iz'u&i= esa eqfnzr i`"B 8 rFkk iz'u 30 gSaA  
 Please make sure that the printed pages in this question paper are 8 in number and 

it contains 30 questions. 

•••• iz'u&i= esa nkfgus gkFk dh vksj fn;s x;s dksM uEcjdksM uEcjdksM uEcjdksM uEcj dks Nk= mÙkj&iqfLrdk ds eq[;&i`"B ij fy[ksaA 
 The Code No. on the right side of the question paper should be written by the 

candidate on the front page of the answer-book. 

•••• Ñi;k iz'u dk mÙkj fy[kuk 'kq: djus ls igys] iz'u dk Øekad vo'; fy[ksaA 
 Before beginning to answer a question, its Serial Number must be written. 

•••• mÙkj&iqfLrdk ds chp esa [kkyh iUuk@iUus u NksMsa+A 
 Don’t leave blank page/pages in your answer-book. 

•••• mÙkj&iqfLrdk ds vfrfjDr dksbZ vU; 'khV ugha feysxhA vr% vko';drkuqlkj gh fy[ksa vkSj fy[kk mÙkj u 
dkVsaA 

 Except answer-book, no extra sheet will be given. Write to the point and do not 

strike the written answer. 
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•••• ijh{kkFkhZ viuk jksy ua0 iz'u&i= ij vo'; fy[ksaA jksy ua0 ds vfrfjDr iz'u&i= ij vU; dqN Hkh u 
fy[ksa vkSj oSdfYid iz'uksa ds mÙkjksa ij fdlh izdkj dk fu'kku u yxk,¡A  

 Candidates must write their Roll No. on the question paper. Except Roll No. do not 

write anything on question paper and don't make any mark on answers of objective 

type questions. 

•••• d`i;k iz'uksa ds mÙkj nsus lss iwoZ ;g lqfuf'pr dj ysa fd iz'u&i= iw.kZ o lgh gS] ijh{kk ds mijkUr bl ijh{kk ds mijkUr bl ijh{kk ds mijkUr bl ijh{kk ds mijkUr bl 
lEcU/k elEcU/k elEcU/k elEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkAsa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkAsa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkAsa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkA    

 Before answering the questions, ensure that you have been supplied the correct and 

complete question paper, no claim in this regard, will be entertained after 

examination. 

uksV %uksV %uksV %uksV %    lHkh iz'u lHkh iz'u lHkh iz'u lHkh iz'u vfuok;Zvfuok;Zvfuok;Zvfuok;Z    gSaAgSaAgSaAgSaA    
            All questions are compulsory.    

[k.M[k.M[k.M[k.M    – vvvv    
    SECTION – A 15 × 1 = 15 

¼¼¼¼oLrqfu"B iz'uoLrqfu"B iz'uoLrqfu"B iz'uoLrqfu"B iz'u½½½½    
(Objective Type Questions) 

1. dkSu-lk fuEufyf[kr lapkj izfØ;k ds Hkhrj lapkj dk ,d rRo ughaughaughaugha  gS \ 
 (A) pSuy  (B) fjlhoj 
 (C) izs"kd  (D) le; 
 Which of the following is not an element of communication within the 

communication process ? 

 (A) Channel  (B) Receiver 

 (C) Sender  (D) Time  

2. tc vki ck;sa ekml dqath dks nckdj j[krs gSa vkSj ekml dks pkjksa vksj fgykrs gSa] rks mls D;k dgk 
tkrk gS \ 

 (A) gkbykbfVax  (B) [khapuk 
 (C) p;u djuk (D) fgykuk 
 What is the term used when you press and hold the left mouse key and move 

the mouse around ? 

 (A) Highlighting  (B) Dragging  

 (C) Selecting  (D) Moving  
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3. la;qDr jk"Vª }kjk fdrus lrr fodkl y{; fn, x, gSa \ 
 (A) 18  (B) 17 

 (C) 15 (D) 20 
 How many sustainable development goals are given by the United Nations ? 

 (A) 18  (B) 17 

 (C) 15 (D) 20 

4. 4R's esa dkSu-lk 'kkfey ugha ugha ugha ugha gS \ 
 (A) ?kVkuk  (B) iqu%mi;ksx  
 (C) iqujko`fÙk (D) iquizkZfIr 
 Which is not included in 4R's ? 

 (A) Reduce   (B) Reuse  

 (C) Recycle  (D) Recover 

5. vkidks fcuk nwljksa dh iz'kalk ds dke ;k v/;;u iwjk djus ds fy, D;k izsfjr djrk gS \ 
 (A) vkRe-fo'okl  (B) lapkj 
 (C) vkRe-izsj.kk (D) vkRe-lEeku 

 What makes you complete work or studies without others cheering you ? 

 (A) Self-confidence  (B) Communication 

 (C) Self-motivation (D) Self-esteem 

6. usVofdZax euksjatd xfrfof/k dk ,d -------------- dkjd gSA  
 (A) lkekftd   (B) O;kogkfjd 
 (C) euksoSKkfud (D) i;kZoj.kh; 
 Networking is a …………. factor of recreational activity.  

 (A) Social  (B) Behavioral 

 (C) Psychological  (D) Environmental 

7. ------------ vius dk;ksZa vkSj Hkkoukvksa dks fu;af=r vkSj funsZf'kr djus dh {kerk gSA  
 ………… is the ability to control and direct one's own actions and emotions.  

8. ------------- ,d u;k O;olk; cukus] ykWUp djus vkSj pykus dh izfØ;k gSA  
 ………….. is the process of designing, launching and running a new business. 
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9. SMART y{;ksa esa 'S' dk D;k vFkZ gS \ 
 In SMART goals, what does 'S' stand for ? 

10. dkSu-lk fnu jk"Vªh; [ksy fnol ds :i esa euk;k tkrk gS \ 
 Which day is celebrated as National Sports Day ? 

11. fdl laxBu us lrr fodkl y{; cuk, gSa \ 
 Which organization has made the Sustainable Development Goals ? 

12. m|eh cktkj esa ,d vko';drk dh igpku djrs gSa vkSj mlds fy, ,d mRikn ;k lsok cukrs gSaA  
  ¼lR;@vlR;½¼lR;@vlR;½¼lR;@vlR;½¼lR;@vlR;½ 

 Entrepreneurs identify a need in the market and build a product or service for it.  

    (True/False)  

13. lquuk ,d fuf"Ø; izfØ;k gS vkSj blesa lfØ; Hkkxhnkjh dh vko';drk ugha gksrhA ¼lR;@vlR;½¼lR;@vlR;½¼lR;@vlR;½¼lR;@vlR;½ 

 Listening is a passive process and does not require active engagement.   

  (True/False) 

14. bl iz'u esa nks dFku fn, x, gSa vfHkdFku vfHkdFku vfHkdFku vfHkdFku (A) rFkk dkj.k dkj.k dkj.k dkj.k (R)A dFkuksa dks i<+dj uhps fn, x, fodYiksa 
esa ls lghlghlghlgh mÙkj dk pquko djsa % 

 vfHkdFku vfHkdFku vfHkdFku vfHkdFku (A) %%%% tyok;q ifjorZu eq[;r% ekuo xfrfof/k;ksa }kjk lapkfyr gksrk gSA  

    dkj.k dkj.k dkj.k dkj.k (R) %%%% izkÑfrd ?kVukvksa dk tyok;q ij dksbZ izHkko ugha iM+rkA  

 fodYi %fodYi %fodYi %fodYi % 

 (A) vfHkdFku (A) vkSj dkj.k (R) nksuksa lgh gaS rFkk dkj.k (R), vfHkdFku (A) dh lgh O;k[;k gSA   

 (B) vfHkdFku (A) vkSj dkj.k (R) nksuksa lgh gSa ysfdu dkj.k (R), vfHkdFku (A) dh lgh O;k[;k   
ugha gSA 

 (C) vfHkdFku (A) lgh gS ysfdu dkj.k (R) xyr gSA  

 (D) vfHkdFku (A) xyr gS ysfdu dkj.k (R) lgh gSA 
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 Two statements are given in this question Assertion (A) and Reason (R). Read 
the statements and choose the correct answer from given options below : 

 Assertion (A) : Climate change is largely driven by human activities.  

 Reason (R) : Natural phenomena have no effect on the climate.  

 Options : 

 (A) Both Assertion (A) and Reason (R) are correct, and Reason (R) is the correct 
explanation of Assertion (A). 

 (B) Both Assertion (A) and Reason (R) are correct, but Reason (R) is not the 
correct explanation of Assertion (A). 

 (C) Assertion (A) is correct, but Reason (R) is incorrect. 

 (D) Assertion (A) is incorrect, but Reason (R) is correct. 

15. bl iz'u esa nks dFku fn, x, gSa vfHkdFku vfHkdFku vfHkdFku vfHkdFku (A) rFkk dkj.k dkj.k dkj.k dkj.k (R)A dFkuksa dks i<+dj uhps fn, x, fodYiksa 
esa ls lghlghlghlgh mÙkj dk pquko djsa % 

 vfHkdFku vfHkdFku vfHkdFku vfHkdFku (A) %%%% QqVckWy esa ,d yky dkMZ dk ifj.kke [ksy ls rqjUr fu"dklu gksrk gSA  
    dkj.k dkj.k dkj.k dkj.k (R) %%%% f[kykM+h dks ,d izfrLFkkiu }kjk izfrLFkkfir ugha fd;k tk ldrkA  
 fodYi %fodYi %fodYi %fodYi %    
 (A) vfHkdFku (A) vkSj dkj.k (R) nksuksa lgh gSa rFkk dkj.k (R), vfHkdFku (A) dh lgh O;k[;k gSA   

 (B) vfHkdFku (A) vkSj dkj.k (R) nksuksa lgh gSa ysfdu dkj.k (R), vfHkdFku (A) dh lgh O;k[;k   
ugha gSA 

 (C) vfHkdFku (A) lgh gS ysfdu dkj.k (R) xyr gSA  
 (D) vfHkdFku (A) xyr gS ysfdu dkj.k (R) lgh gSA 
 Two statements are given in this question Assertion (A) and Reason (R). Read 

the statements and choose the correct answer from given options below : 

 Assertion (A) : A red card in football results is immediate expulsion from the game.  

 Reason (R) : The player cannot be replaced by a substitute.  

 Options : 

 (A) Both Assertion (A) and Reason (R) are correct, and Reason (R) is the correct 
explanation of Assertion (A). 

 (B) Both Assertion (A) and Reason (R) are correct, but Reason (R) is not the 
correct explanation of Assertion (A). 

 (C) Assertion (A) is correct, but Reason (R) is incorrect. 

 (D) Assertion (A) is incorrect, but Reason (R) is correct. 
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[k.M[k.M[k.M[k.M    – cccc    
    SECTION – B 6 × 2 = 12 

¼¼¼¼vfr vfr vfr vfr y?kq mÙkjh; iz'u½y?kq mÙkjh; iz'u½y?kq mÙkjh; iz'u½y?kq mÙkjh; iz'u½    
(Very Short Answer Type Questions) 

16. dkS'ky ijh{k.k D;k gS \ 
 What is a skills test ? 

17. vki vkdyu ls D;k le>rs gSa \ 
 What do you mean by the assessment ? 

18. vki ,d fjiksVZ dk fo'ys"k.k dSls djrs gSa \ 
 How do you analyze a report ? 

19. dkSu-ls dkjd 'kkjhfjd xfrfof/k dks izHkkfor djrs gSa \ 
 What factors influence physical activity ? 

20. ekSfnzd vkbVe D;k gSa \ 
 What are Monetary items ? 

vFkokvFkokvFkokvFkok    

OR 

 ewyHkwr [ksy pksVsa D;k gSa \ 

 What are the basic sports injuries ? 

21. fdUgha nksnksnksnks ruko izca/ku rduhdksa dh O;k[;k dhft,A  

 Explain any two stress management techniques ? 

vFkokvFkokvFkokvFkok    

OR 

 LFkSfrd larqyu vkSj xfr'khy larqyu ds chp varj dhft,A  

 Differentiate between static balance and dynamic balance. 
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[k.M[k.M[k.M[k.M    – llll    
     SECTION – C 6 × 3 = 18 

¼y?kq mÙkjh; iz'u½¼y?kq mÙkjh; iz'u½¼y?kq mÙkjh; iz'u½¼y?kq mÙkjh; iz'u½    
(Short Answer Type Questions) 

22. izkFkfed mipkj ds D;k ewyHkwr fl)kUr gSa \ 

 What are the basic principles of First Aid ? 

23. vki eqDr [ksy ls D;k le>rs gSa vkSj blds ?kVd D;k gSa \ 
 What do you mean by Free Play and what are its components ? 

24. fofo/krk lewg vkSj lekurk lewg ds chp varj dhft,A  
 Differentiate between Heterogeneous and Homogeneous groups.  

25. vkof/kd lwph tk¡p dk D;k egÙo gS \ 
 What is the importance of periodic inventory check ? 

26. ykxr dk vuqeku yxkus ds rhurhurhurhu ewyHkwr izdkj D;k gSa \ 
 What are the three basic types of cost estimating ? 

vFkokvFkokvFkokvFkok    

OR 

 dSls funku vkdyu lh[kus dk leFkZu djrk gS \ 
 How does diagnostic assessment support learning ? 

27. m|eh ds dk;Z D;k gSa \ 
 What are the functions of an entrepreneur ? 

vvvvFkokFkokFkokFkok    

OR 

 tSfod vk;q dks ifjHkkf"kr dhft, vkSj ;g D;k n'kkZrk gS \ 
 Define biological age and what does it reflect ? 
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[k.M [k.M [k.M [k.M – nnnn    
     SECTION – D 3 × 5 = 15 

¼¼¼¼nh?kZ nh?kZ nh?kZ nh?kZ mÙkjh; iz'u½mÙkjh; iz'u½mÙkjh; iz'u½mÙkjh; iz'u½    
(Long Answer Type Questions) 

28. ,d vPNk f'k{kd cuus ds fy, fdu-fdu egÙoiw.kZ xq.kksa dh vko';drk gksrh gS] mudh O;k[;k dhft, \  
 Explain various important qualities that are needed to be a good teacher.  

vFkokvFkokvFkokvFkok    

OR 

 f'k"Vkpkj D;k gS vkSj f'k"Vkpkj ds fofHkUu izdkjksa ij foLrkj ls ppkZ dhft,A  
 What is Etiquette and discuss the different types of Etiquette in detail. 

29. MkWD;wesafVax esa 'kkfey dne D;k gSa \ 
 What are the steps involved in documenting ? 

vFkokvFkokvFkokvFkok    

OR 

 lwph izca/ku dh fofHkUu rduhdksa dh O;k[;k dhft,A  
 Explain the different types of inventory management techniques.  

30. vkdyu ds fofHkUu midj.kksa vkSj rduhdksa dks foLrkj ls le>kb,A  
 Explain the different tools and techniques of assessment in detail. 

vFkokvFkokvFkokvFkok    

OR 

 Nk=ksa ds thou esa eqDr [ksy ds egÙo dh ppkZ dhft,A  

 Discuss the importance of free play in student's life.  

S 

 


